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' 400 REM L SR test <

410 INPUT“L}E#z::ﬁ P— ",p IN—
PUW¥ﬁﬁﬁ&ﬁSB”SE S
420 DIM C$ (p) L Z(P), SSRl (P)
SSRZ(P) ACP),B(P), E$(P) F$(P) _‘
430 FOR 1~2 TOP PRTNT “Px—' ¥
F4 i . ) MR _AJ
440 INPUT *“SSR. 05, SSR. OI-”'SSRI’"
(I),SSRZ(I) = N
“aso Ady= SE'x SSR1(1Y B{I)*SE*
%Rm) NEXTT <0 et
460 FORI—lTOP READC‘BO) z‘
(D NEXT T 2 g
'470 FOR 1—1 ’I‘O P 1 FOR J—1+T~

AN S UL A g

TOP




480 TF Z(1)>Z(J) THEN 500

490 SWAP Z(1),Z(J) :SWAP C$ (1),
C$

500 NEXT J,1

510 GOSUB 800 :GOSUB 900

520 A § =STRING § (72,61) :B$ =

STRING $ (72,45) |
530 LPRINT TAB(20);% % 5 B ¥
43 ¥ (LSR)”
540 LPRINT A $
550 LPRINT TAB(2);  “|
| |ZERBEE"
560 LPRINT TAB(2); ‘r%%IU:ML%
FiSiE = - R o
570 LPRINT TAB(2);" 1

[ | 0.05 | 0.01 1":
580 LPRINT B$
590 FOR 1==1 TO P

600 LPRINT TAB(S) 1 IPRI\I“
"TAB(s), 1 'LPRINT TAB (16); C
T, LPRINT TAB(28) | IPRI\IT
TAE (345; USING“# #tt# 11 £ 7,7
@ :LPRINT TAB(46);*1”;

610 LPRINT TAB (51); E'$ (I);
LPRINT TAB(SS) “I” : IPRINT TAB
(64) F$ (D IPRI‘\IT TAB(?O) “1m
" '620 NEXT I,LPRINT A $ .
630 DATA “A”,10.7."B”, 12. 4“C”
'11 4,“D",10.0

640 DATA“E”,14 2. “F”,lO 8.“G”,
11.9,“H”.11. 4
" 700 END |

800 REM SUB-1 0. 05 K £ R B EH

1 THEN 9707 0

st
810 K=97;E $ (1)=CHR § (K):H=1
1820 FOR J=H TO Pq1;FOR I=J+1

TO P.Q=Z(D-Z(D

830 IF Q(=AQ-J+1) THENE$ (D
=E$ (I)+CHR $ (K):GOTO 880 -

840 K=K+1.FOR L=1-1 TO J+1
STEP-1 ‘

850 W=2Z(L)-Z(I):IF W(=A(I-L+

1) THEN 870 °

860E$ (L+1)=E$ (L +1)+CHR

"¢ (K);H=L+1.GOTO 820

870 NEXT L:E $J+D=E$J+D

ZFCHR § (K):GOTO 890

880 NEXT 1.K=
890 NEXT J:RETURN
900 REM SUB-2 0. 01 KFERBEE
ﬂﬁ o “9"“
910 K= 65 F%(D—*CHR%{K) ‘H= 1
' 920'FOR J=H TO P- rFOR;i"f" f+1
TO PiQ=zZz e
" 930 IF Q< =B(-J+1) THEN B CI)
=F $ (D+CHR $ (K);GOTO 980
940 K= K-H FOR L Shane)
STEP-1 - e
" 950 W=2Z(L) z<1> m W%'—’Bﬂ Lﬁr

9bOF$(I,+1)~P"{§(L+1)+CHR
q;(K) H=L+1.G0TO 920 RO H
970 NEXT L. F‘B(J-H)—F‘B(H—l)
+CHR § (K).GOTO 990 e
980 NEXT 1.K=32" " "+ /"

990 NEXT I RETURN‘
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